
Домашнее задание по теме: «Уравнения с разделяющимися 
переменными. Однородные уравнения» 

 
1)  0ln2tg3 =− xdyxydx . 

Ответ:        xCy 32 lnsin = ⇒ kxCy k π+−±= 3lnarcsin)1( . 
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3)  ( ) ( ) 0=++− dyyxydxxxy . 

Ответ:  ( ) Cyyyxxx =−+++++− 1ln221ln22 ,   

 ⇒   ( ) ( ) yxyxCeyx −−−=−⋅+ 2222
11 . 

 
4)  012 =−+ xydydxy . 

Ответ:  Cxy +=+ ||ln12    ⇒    1)||(ln 2 −+±= Cxy ,  0=x . 
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y

xeyyx −=′ . 
Ответ:  Cxe xy +=− ||ln      ⇒    ( )||lnln xCxy +⋅−= . 

 
7)  ( ) xdydxxyy =+ . 
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         ,  ⇒ ( )2||lnsgn5,0 Cxxxy +⋅⋅= 0=x ,  0=y . 
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